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Paper I
PEERIECN |

[Maximum Marks : 100

Note : (1) This Paper contains Sixty (60) multiple choice questions, each question
carrying Two (2) marks.
(2) Attempt any Fifty (50) questions.
A : (1) o1 Yeuehd €8 (60) Sgfere U9 faoel 31gd Yo el &9 (2) T
e
(2) HUEE T (50) T SW T
The least important teacher | 1. YRUTHERE ALAIAEE ddid HHI
characteristic for effective teaching e Rae-TuafiTe o
in primary education is : Ay SRR WA e
(A) Effective communication skill &) :
(B) Empathy for students (B) foeneafydt Fergem
(C) Impartial attitude towards (C) fomneatadt wrETcHs e
students 3 .
(D) High academic achievement (D) = A& HIE
Which of the following statements | 2. Wiclicius! HUM foue HF MR ?
. o . x
](SAfri\t/Ie{ ted 1 learn bett (&) IR AT I
otivated learners learn better s T R
than unmotivated ) .
(B) Girls learn better than boys (B) Herdel Hefl stfereh <o fershama
(C) Children learn better than (C) Wreren et 3 =TSy o
adults rem Ca N
(D) Creative persons learn better D) Ffom ,oqomll"&" SSiRTlet e
than intelligent A =T R
Which of the following guarantees | 3. <TTea YR W WiceTdsh! HIMS
better retention ? ear a9 ?
(A) Use of visual aids by teacher .
(B) Active participation of the (8 T TR R
students (B) faeneat=r wfepa dewm
(C) Use of relevant examples (C) gHagH ITEUMET AR
(D) Meaningful learning
experiences (D) efqul srem STgeyedt

[P.T.O.



What is the current thinking on

learning ?

(A) Learner’s mind is an empty
vessel and teacher fills it with
knowledge

(B) Every learner builds concepts
based on his previous
knowledge

(C) Learner eagerly absorbs
information given by the
teacher

(D) Learning is a spontaneous
response given to the stimulus
of teaching

Computer can help enhance

creative thinking when :

(A) Students are asked to view
effective powerpoint
presentations

(B) Students are asked to collect
latest information through
Internet

(C) Students are asked to solve
open-ended problems using a
computer

(D) Students are asked to prepare
a research report wusing

computer

NOV-00011/1—A
I e fa=m o ?

(A) IFTTRAE 71 ® o wie 1R

g e @ IE R Al

(B) W% SAIehdl Al YA

MR HehoddT IR ki)

(C) AeTIhal et fociert wnfedt

ShdT UBU Hl

(D) STeATIT=deRTen fociell 3chd UfaHg

p- S I DL

qeieitel foem gfgmma wvarandt diomen

SUgE 3, S’

(A) Tammeatan guret dleruise TR
qRUIE H|iae ST

(B) fomneafan seegrn stemmEd wifgdr

Tufed HL0AE Hifflaal STd

(C) fommeaft g wwE=a RIS

HIOTsh  SATLOATE Wifdel STd

(D) fommeafTr TR A9 HEA

HINYA 3789 IR H0IE T

Sid




10.

What is the main purpose of
inclusion of projects, practicals and
seminars by students ?

(A) To increase active participation
of the students

To evaluate non-academic
qualities of the students

To make evaluation continuous
and comprehensive

To develop self-study skills in
students

Research refers to :

(A) Routine activity

(B) Annual activity

(C) Occasional activity

(D) Fact finding activity

A research problem is one which
clearly seeks a relation between :
(A) Logistics

(B) Researchers

(C) Hypothesis

(D) Variables

The scientific approach has one
characteristic that no other method
of attaining knowledge has and that
is :

(A) Divine authority

(B) Self-correction

(C) Mystical prophecy

(D) Spiritual Revelation

The process of establishing a
relationship of mutual trust between
the researcher and the participants
is known as :

(A) Intimacy

(B) Informality

(C) Rapport

(D) Nexus

(B)
(®))

(D)

10.
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Yehed, WTcAfateh STfUT faeneai= gedeniol
I FHST H0ATH TE 33T HI0rl ?
(A) fommeat=r afea we9m arefan

(B) fammeaf=ar e1sterfors (non-

academic) TV HEAHIIA
H

(C) HeIHMTA HdAYU o Hehy HI0

(D) fomneata @-31eaaH Sivred farfaa
O

TN RN

(A) e fsman

(B) arftier foRan

(C) Afafaw fwan

(D) TEnea T

TRNEATHS Y99 hIMHETA Fog Tqeaqo

MY I hl ?

(A) TaTqLEal (i)

(B) H3NEeh

(C) ufiheu

(D) e (=Ruaed)

A Hawa= TEdivg SO hIvcmel

Tgda A fSgum 9o IS gt

SR foRie TqueH WS

(A) T AR

(B) @I-GuROm

(C) & wfasgerit

(D) TeATfcHeh Gehelahul

qEligeh ST WENEEd Feurl v

el e favara oo wvart g

R

NESELED

(B) TAra=nfenar

(C) Wehdmdl

(D) Hoy

[P.T.O.



11.

12.

Hypothesis is formulated on the
basis of :

(A) Existing theory and literature
(B) Interviews

(C) Questionnaires

(D) Observations

A village leader, or a manager of an
organisation or the director of a
hospital whose permission is sought
and who suggests which members
would be the best informants for the
study, is the :

(A) Key informant

(B) Resource person

(C) Gatekeeper

(D) Critical participant

Answer questions 13 to 18 based
on either the English passage
or the Marathi passage :

If we ask where the tempestuous
developments of world industry
during the last quarter century have
taken us, the answer is somewhat
discouraging. Everywhere the
problems seem to be growing faster
than the solutions. This seems to
apply to the rich countries just as
much as to the poor. There is
nothing in the experience of the last
twenty-five years to suggest that
modern technology, as we know it,
can really help us to alleviate world
poverty, not to mention the problem
of unemployment which already

11.

12.
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IReheTT (BRGITAMTY) TR v
qadifashl I A

(A) Suersy wifea enfor fagma
(B) Hererdt

(C) T¥AE
(D) e

TaTae et fohar wemen g e
gaLeus fedar wemen wifegeas
T i SIME] YA SAEt AnTd

fehal =T YR 0 Aifedt <gA ©
] YHRU KA TRUN

(A) I THIHS

(B) e wd+

(C) TEshI

(D) ferfesra widfaue

U9 . 13 18 ¥ Ue feerean sar=max
AT YgIEr I AT ¢
o= 3T A=A SHaEEsid el
T SUS ITE; O T HA-HRNEA ST
qeg Sieq I Sl YIOn GeHIEH
foraT= WiTditen shRuiid siean. fem
sTifor fradrer=t aRfeerdt am= stfienteen
I G fHesavEmE Ao 99
€ A=A WAHeh forr @ey 2. 3™
TIMYA Ll st Aoy fafirse
51, HITAA ArAES Bl O IS
TUA 0T el foes 99 W 2
et ST 9T FHTSiTd foamre=i 9ot g
Tet. wuAE fagErean sfagrdar
foRTTHTeeleR e hel, T HIERO T T




reaches levels like thirty per cent in
many so-called developing countries,
and now threatens to become
endemic also in many of the rich
countries. In any case, the apparent
yet illusory successes of the last
twenty-five years cannot be
repeated.

So we had better face the question
of technology—what does it do and
what should it do ? Can we develop
a technology which really helps us
to solve our problems—a technology
with a human face ?

The primary task of technology—it
would seem, is to lighten the burden
of work man has to carry in order
to stay alive and develop his
potential. It is easy enough to see
that technology fulfils this purpose
when we watch any particular piece
of machinery at work—a computer,
for instance, can do in seconds what
it would take clerks or even
mathematicians a very long time, if
they can do it at all. It is more
difficult to convince oneself of the
truth of this simple proposition when
one looks at whole societies. When
I first began to travel the world,
visiting rich and poor countries
alike, I was tempted to formulate
the first law of economics as follows.

NOV-00011/T—A
ST = Yl sedrE feEd.

(1) dafea gepdida fagm, (2)
qifs=raTe fasa 3fur (3) SiFTfdeh form.
S Y G&pdren faw@ men 99 a9
famr= Wit grett. (AY w1 gikomm
afor gftomy 3 @R 9d.) fagm™
it i o7 o aes datere
SR AU ST =ATSr=T TR
3. osheral SATauTe H&hdid T
ferel TTelt Fedt il ® R T AL

1854-55 9ol HATATAT Ic@FATIA

AR Afaclifad S5hdier. gam=

JhISTEIT dSall. 49 HuSeredl Rieeierd
SeifEiedl SRHLA ¢, TSAles, HuH!,
HIISTEIE SR FHET 38, YR
A AT QUSRI Hd, A
TEhdidiel e Ty  Ufaerisg e
T’ (Historical First) 3R Tl It
. GHR Hal gSIRjuen safees auigelf
Sfereit@n (TR HHYISIHaA, STl 30 )
HEY 50,000 d 1,00,000 s TWE
(Eridu), 3% (Uruk), 391 (Umma) 3.
21511 M K o 11 | ) S 1 S R
METTH A foAm e e Eid.
SfoTa @ STTATld Shieelak T ShoT=2
TRfaed= IHchR SEaell. 9Rd 3T
A T eed 9aR qiae ged
Tehell Bidl. UM ol (3.6, GRHT)

[P.T.O.



13.

‘The amount of real leisure a society
enjoys tends to be in inverse
proportion to the amount of labour-
saving machinery it employs.’ If you
go from easy-going England to, say,
Germany or the United States, you
find that people there live under
much more strain than here. And
if you move to a country like Burma,
which is very near to the bottom of
the league table of industrial
progress, you find that people have
an enormous amount of leisure
really to enjoy themselves. Of course,
as there is so much less labour
saving machinery to help them they
‘accomplish’ much less than we do;
but that is a different point. The fact
remains that the burden of living
rests much more lightly on their
shoulders than on ours.

Which of the following statements
is true ?

(A) Technology promises more
leisure

Technology can solve the
problem of poverty

In spite of industrial and
technological developments

(B)
(©)

there are more problems than
solutions
(D) The problem of unemployment
exists only in developing

countries

13.

NOV-00011/I—A
TH. 500 = AN n(9E) o HA
3.1416 3TfoT GREuT=T FeB 365.58 feaq
RUA el Yeat gt R, ot
MR 3T A1 el A™Yg A 9|
g, =meia ufeasq fagmesm
TR Y= FHI@URA STTEH Bld. G
for BUE a1 e Sen SAfave
AT QURAT 3TTed. SRE! SIS
anfor YT AHEN WEva ke hal.
TA-TARISHT (Al-Khvarigmi, 9r¥mRol
TH. 850) A1 WA I fafecresn
A5 (Al-Jabr) o ‘ereAfSsn’ 4
Tforqemede faarm=n dfeet w@fedr
AR ety St fame foemma Wi
Bl 37T Yol AT &7 hiee
M 1 TS 37 &I d 6 T,
AT

AerE S foRen =re o
S, M= SiTeATd 3MTelelt garegdl &
Jan g™ uRum 29

(A) qUi foum ==&

(B) qui faum s¥eR
(C) gard s

(D) TUY SR




14.

15.

16.

The primary task of technology is
to :

(A)
(B)
(®))
(D)

create equality in society

develop man’s interest in work
improve man’s mental powers
reduce the burden of man’s

work
According to the first law of
economics formulated by the author,
the amount of leisure enjoyed by the
society is greater if :
(A)

it uses more labour-saving

machinery

(B) it uses less labour-saving

machinery

(C) it controls the growth of labour-

saving machinery

(D) it invents more labour-saving

machinery
Which of the following statements
is not true ?
(A) People in Burma enjoy more
leisure than those in England
People in Burma enjoy less
leisure than those in the United
States
There is not much difference
between the amount of leisure
enjoyed by people in Germany
and the United States
People in England enjoy more
leisure than those in Germany

(B)

(®))

(D)

14.

15.

16.
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gy o fafo s, & wasd
BIUI = Hd Yeledsh! hIvKd
HRO AR ?

(A) Ut gAe
(B) Ui o = SfqerreeeT™ ST
(C) Afaur=i quear=n 19

(D) Wii=mreashera Ufaefas I

(a)

fIT foenTd & Teahdi=n faehrd a1 Sl
Tt TEREesl! 3TTed; Toe TR el

(A) qui faum ==
(B) i faem adesR
(C) gard s

(D) ST s

a a N a

ST Ta FEhel JeIeTdeh! Shivre Serdid

WA R ST YUel AT ?
(A)GT@GFH
(B) d<aam™

(C) wRm&EA

(D) hIeTHTIA

[P.T.O.



17.

18.

19.

20.

There is a significant difference
between what technology does and
what ?

(A) it should have done

(B) it does not

(C) it could do

(D) it should do

Choose the most appropriate title for
the passage from the following :
(A) The advantages of technology
(B) Technology and unemployment
(C) Technology and society

(D) Technology in developed nations
As we move from interpersonal to
mass communication :

(A) messages become less

structured and feedback

becomes more instantaneous
(B) messages become less

structured and feedback

becomes less instantaneous
messages become more
structured and feedback
becomes more instantaneous
messages become more
structured and feedback
becomes less instantaneous
Identify the incorrect statement from
the following :

(A) It is not that you cannot
communicate

Silence communicates
Noise in channel
message reception
Message is independent of
characteristics of medium

(®)

(D)

(B)

(C) affects

(D)

17.

18.

19.

20.
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Ao 49 e AFeESTdE 19, 3™

EUU R0 .
(A) & HT@MH d He v drerEd
(B) aﬁvﬁ%&ﬁ eI o HIied Sedl

(C) TSR el TfHegereh |RTdT Ad

(D) et d qEel G fHesfaetal I
FHd

JEIcTdeh] IV TfiSieh Sarard Hard
i R ?
(A) fogmmn ™

(B) Ut o uif=mre fagm

(o) [olsil«uﬂ"l GERIS
(D) TIE g SraA

T FFA AT WA A
SOOI = G JardEed

(A) TeIT HH TEAEG =g Sad ST

gfqae dichles faesd SITdTd

(B) 9T HHl TG ald Sda 37for
yfqerer=i dichlfciehdl ST BId Sd

(C) He9T 3fYer T=Teg Bid Siard i
yfaae & dichls fHed Sde

(D) G391 3fYeh =g Bid Siard i
yfqErer=n dichlfciehdl ST BId STd

Tl 3@ faam afesan .

(A) TR T9H HT Iehd AE T B
et

(B) HHITR! HeA B

(C) AT TSI FaTTIRUTER
oM Bl

(D) G391 =& Hrem afyrearen fRue
ST




21.

22.

23.

Which of the following statements
correctly describes the relationship

between communication and
culture ?
(A) Culture is independent of

communication
(B) Communication is independent
of culture
(C) Communication and culture are
dependent on each other
(D) Culture and communication are
unrelated entities
Which of the following is/are
example/s of verbal communication ?
(i) Writing
(i1) Listening
(zii)) Reading
(fv) Speaking
(A) Only (i) and (iv) are correct
(B) Only (2), (iit) and (iv) are correct
(C) Only (ii) and (fv) are correct
(D) All the four are correct
Arrange the following new media
facilities chronologically :
(1) twitter
(z1) hotmail
(211) U-tube
(tv) facebook
(A) @), @), (i), (o)
B) @), @), Gv), (i)
(C) (@), (o), (Gi7), ()
D) GD), (i), (Gv), (@)

21.

22.

23.

NOV-00011/1—A
ETefierdehl o fasm™ SAda eafon
T&pdadid A 7% 9uH Ad ?

(A) H&hdl AR STecied TEd

(B) HUH HE&HdleR Tacied T4

(C) |HATIA AT H&hdl THHBTA

ST STHAT

(D) WAT99 oMo HW&hdl AT Sl

TR G

Tkl hTT HITse GATIATS /=

3CTELUT/ S0l 3Te/3Aed 2

() fafgq

(ii) U

(ii7) =0l

(fv) STl

(A) B (7)) 30 (ju) SCTEL 3TRd
(B) e (1), (ii) 3T (jv) ST 3T
(C) W (ii) 30 (jv) STV 3TRd
(D) 9RE Tl STl 3TRd

T WM @eiiel e giaeme
FHIAIHH A e

() THX

(i) TeHa
(iii) U-2gd
(iv) ®HH
(A) @), (@), (i), (iv)
B) @), (@), (Gv), @)
(C) @), (v, (D), (i)
D) Gi), (i), (iv), (i)

[P.T.O.



24.

25.

26.

27.

28.

What is the motto of Doordarshan ?
(A) Bahujan Hitay Bahujan

Sukhay
(B) Aharnish Sevamahe
(C) Satyamev Jayate
(D) Satyam Shivam Sundaram
Find the odd man out :
(A) 165
(B) 176
(C) 243
(D) 275
Replace the question mark (?) by an
appropriate alternative in the
following series :

4 14/3 16/3 6 ?
(A) 20/3
(B) 22/3
C) 8
D) 9
Replace the question mark (?) by an
appropriate alternative in the
following letter series :

BDGK?

(A) P
(B) Q
(C) O
D) N
In a specific code language, letters
are coded as digits. Sequence of the
digits may not be the same as that
of letters. In this language, GOD is
coded as 243, DAM is coded as 135,
and OAT is coded as 721. How will
you write the word DOT in this
language ?
(A) 731
(B) 327
(C) 325
(D) 147

24.

25.

26.

27.

28.
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Q&I ENSeRR Shiod ?
(A) dgsH fed@ sigsH ge
(B) erefiy Harme
(C) FIHe Sad
(D) T foraq gew
fdTd wesh Sfeedn
(A) 165
(B) 176
(C) 243
(D) 275
SHiHeh AL YeAfe=r= ((?) St
ERICEECEIE
4 14/3 16/3 6 ?
(A) 20/3
(B) 22/3
C) 8
M) 9

eIdl 318K shftehd Yefegrea ( ?) St
Iy o feer
BDGK?

(A P

(B) Q

(C) O

D) N

TR hel S TR A & ST&=
SHHTTHE 38 319 &L I weid GOD
= Gehad 243, DAM & Hahad 135 3STfur
OAT < Hehad 721 319 3R AT Hod
DOT @ ¥ &l fofeea ?

(A) 731

(B) 327

(C) 325

(D) 147

10



29.

30.

31.

Select the number that is different

from the rest of the numbers :

(A) 2105

(B) 3217

(C) 5255

(D) 9879

There are three men in a family. If

two of them are sons and two of them

are fathers, how is the youngest

related to the eldest ?

(A) Grandfather

(B) Grandson

(C) Son

(D) Father

In this question, a statement is

followed by two assumptions, I and

I1. Decide which of the assumption/s

is/are implicit in the given

statement. Indicate your answer by

choosing one of the alternatives :

Options

(A) if assumption I only is implicit

(B) if assumption II only is implicit

(C) if both I and II are implicit

(D) if neither I nor II is implicit

Statement : The present system of
examination needs
planned change.

Assumptions :

I: The present examination

system is obsolete.
IT : Planned change leads to
improvement.

29.

30.

31.
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a2

(A) 2105
(B) 3217
(C) 5255
(D) 9879

Teh! SH G i e Aed. T & Jeri
g TH Jeid 3Tl R A gara

e Ies Hard deid sl S ?

INEEIEIE]

(B) =q

(C) HeTm

(D) =

1 Y Ueh a8 o Sarel g Tiedes
[ 9 I feore smea. fooean faummed
ShIUTA/<RIVTGT T[fedeh/Tiedeh ST 3T/

T . THY SW AN 1 TAgR <.
T

(A) Tfedr 1 TT&A ST,

(B) Tedsh 11 STI&A R

(C) T Tfedeh, 19 11, STTHA 3Ted.

(D) TrEiehl Shiv e T ATal.

faam ;. g s aeHes

G IICE | o RO CTCE | FA
NIESEE
[: 9 9el Sl Sieierel SR,
II

fISHIeG deelies YURUT 2d.

11
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32.

33.

34.

In this question, two statements
numbered 1 and 2 are followed by
two conclusions P and Q. You have
to take the two statements to be true
and then decide which of the two
conclusion/s necessarily follow/s from
the two given statements. Indicate
your answer by using the
appropriate alternatives.

Options :

(A) if only conclusion P follows
(B) if only conclusion Q follows
(C) if both conclusions P and Q
follow

if neither conclusion P nor Q
follows

Statements :

(1) All clerks are modern.

(2) Some men are clerks.
Conclusions :

(D)

(P) :  All modern persons are men.
(Q) : Some men are modern
Fill in the blank with an
appropriate alternative :

Beta : Alpha : : Act one : —

(A) Act two

(B) Overture

(C) Finale

(D) Intermission

Which one of the following pairs of
words is different from the others ?
(A) Bread : Butter

(B) Drink : Tea

(C) Liquid : Water

(D) Cold drink : Pepsi

32.

33.

34.

NOV-00011/T—A

A1 I A faum 1 377 2 foeret o1ea;
AR P A Q € 39 fiskd e
Jere Sl faum Tl AEeETE ST
ST I A HI0dr/ R0 Fsehst
fafe=aua wredl Jdial o SEEE SR

e SR YEIeTden! Teh! TATAGR Seiam
3R,

T
(A) ¥ P @ frswd el
(B) ¥ Q @ ks e

(C) P s1ftr Q T <=l fshdl .

(D) P 31fr Q Abht Fior frewd
[EEGEEIE]

faam -

(1) wd fafts smyfe oTea.

(2) =@t gy fafus smRd.

s

(P) : §d 3TYfTeh HKil TEY 3.
(Q): hIEl T AYfTh 3.
IrY g araed Reml S os| o
e : TR :: UAH Ih
A) fgda o1

(B)

(C) sifam f

(D) 9@

JEIeTden] IV TeaSiel SaX SIS
NS AT ?

(A) &S : ot

(B) 99 : =&

(C) sa : qruff

(D) sfaua : Yo

12



35.

36.

Country Jan.

In a picnic of elderly persons, 25

persons take tea, 20 persons take

coffee and 15 persons take milk. Ten

persons take both tea and coffee and

8 persons take both milk and coffee.

None of them takes tea and milk

both and everyone takes at least one

of the three beverages. How many

persons went to the picnic ?

(A) 25

(B) 35

(C) 42

(D) 60

‘4 + 44 + 444 + 4444 +

series has nine terms. If we add

these, which number will be in ten’s

place ?

(A) 2

B) 3

C) 5

D) 8

The following table shows unit sales

of TT950 motorcycles in six

European countries over a six month

period. Use this information to

answer questions 37 to 42.
Months

Feb. March Apr. May dJune Total

Germany 34 47 45 54 56 60 296
U.K. 40 44 36 47 47 46 260
France 37 32 32 32 34 33 200
Belgium 14 14 14 16 17 14 89

Spain 29 29 28 31 29 31 177
Italy 22 24 24 26 25 23 144
Total 176 190 179 206 208 207 1166

35.

36.

NOV-00011/T—A

IIEF TRl Wehl HEeAld 25 lsh gl

Tard, 20 <k il faara o7t 15 &
T TUdId. <81 ik =@l 9 ¥ Sl U,
8 Tieh gY o Shithl =l Tudra. =1 o
39 Sl TYUR o= A=A ST gk
e} e A9 UATdeh! TR TehTe Held
. FRATET ST GlhT=t TehUT T

fordt 2
(A) 25
(B) 35
(C) 42
(D) 60

‘4 + 44 + 444 + 4444 +
S IS AR I Tate SISt shedrd o=
T Il hIvl 37k 3T ?
(A) 2
(B) 3
) 5
(D) 8
@reld dacrdes TT950 Heid™sher=
el JUMEE qenmed ger Afe==
FHICTEHTd FeTedn fash et mifed foedt T
& Wifed aed TF 37 T 42 = SW
fotgr -

wfgr
< SH. hy. WE W A S TEw
ST 34 47 45 54 56 60 296
TAS 40 44 36 47 47T 46 260
pocs| 37 32 32 32 34 33 200
dfceTd 14 14 14 16 17 14 89
R L 29 29 28 31 29 31 177
Gl 22 24 24 26 25 23 144
THU 176 190 179 206 208 207 1166

[P.T.O.



37.

38.

39.

40.

41.

What percentage of the overall total
was sold in Germany ?

(A) 24.6

(B) 25.4

(C) 25.8

(D) 24.1

What percentage of the overall total
was sold in May ?

(A) 25.6

(B) 24.1

(C) 20.3

D) 17.9

Which month showed the biggest
increase in total sales from the
previous month ?

(A) February

(B) March

(C) April

(D) May

What percentage of the monthly
total was sold in the country that
had the maximum sales in
February ?

(A) 24.7

(B) 23.1

(C) 36.5

(D) 15.1

What is the average number of units
per month sold in Italy over the first
four months ?

(A) 22

(B) 23

(C) 24

(D) 26

37.

38.

39.

40.

41.

NOV-00011/T—A

STHATdT foshT & TeRU forshi=a fordt <oh
Bl ?

(A) 24.6

(B) 254

(C) 25.8

D) 241

TeRyl forshi=an fehdl 2ok forsnl B A=
BT

(A) 25.6

B) 24.1

(C) 20.3

(D) 17.9

SHIU Hig=AHES SE= Afg=ar= o
qaifas fast smeft ?

(A) Hgarl

(B)

(C) Ty

D) |

Rl Afgard waifus foshl seiean
QAT fosht wfek TRt fashi=an fordt
ZFh Bt ?

(A) 24.7

B) 23.1

(C) 36.5

D) 151

seoiiAed gfged IR HAfgda Sieredl
fasen mifaes Gt fedt eme ?
(A) 22

(B) 23

(C) 24

D) 26
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42.

43.

44.

45.

46.

47.

What percentage of total sales is

accounted for by the three smallest

importers ?

(A) 37.1

(B) 40.0

(C) 36.6

(D) 35.1

temp is a :

(A) transit file

(B) transitional file

(C) temporary file

(D) transfer file

ETH means :

(A) computers for higher education

(B) electronic technology for open

education

satellites for international

education

(D) radio for school education

Twitter is generally used for :

(A) secret information sharing

(B) electronic mailing

(C) interpersonal communication

(D) social networking

In a virtual classroom :

(A) a teacher’s physical presence is

not needed

a teacher’s physical presence is

neccessary

a Principal’s physical presence

is necessary

students’ physical presence is

not necessary

The process of communication is

considered complete when :

(A) an idea becomes a message

(B) a message is transmitted

(C) a message is transmitted and
received

(D) a message is transmitted,
received and a feedback is sent

(®))

(B)
(®))

(D)

42.

43.

44.

45.

46.

47.

NOV-00011/I—A
=Jad forsh! sTeciedn T SenHeEe TR

forshl & TRU fosht=an fopclt 2aah TR ?
(A) 37.1

(B) 40.0

(C) 36.6

(D) 35.1

temp ]

(A) TfEe ®EA TR

(B) TfeRMa ®EA S®

(C) U wEA 3R

(D) TR IR 38

ETH w=US

(A) I=u foreomEnd 9emorshmen A
(B) Ho ReTomee soiaeieh qorsren

IR

(C) SAWSE Feumde ITeren ara

(D) e fereromErdl AdEmiEr ST

e =1 ST 7 HIEROqUl AEES! hel

511

(A) T« Hifgdd SEHISH

(B) soireIfieh #a

(C) ATHH FATIA

(D) TSN WIS TRt G=TaH

Ko Ol

(A) Torerr afd 9cgsl BSR STHO
AERIS TG

(B) foreter ovifd 9l BSR STHO
OIS A

(C) Y=mEia avfd 9cgsl BSR ST9o
AERIS A

(D) fomneata avfd gogel TSR 190

_ EYgs A

AT Gfshall Ui SiTell ST hegl RS

S

(A) “eg foeme 92 ®9id B

(B) =@l Hevme &&d_®ld
(C) j%l HaIT 8 Bld o dl TRl

SIegl GEUTY =& TId, df Tfishen
S F AMER. JR0 2B

(D)

15

[P.T.O.



48.

49.

50.

51.

52.

When you plan for a speech, the
following elements will influence
your presentation ?

(z) The participants

(1) The setting

(zit) The purpose

(A) Only (i) is correct

(B) Only (i) and (i) are correct
(C) Only (i) and (iii) are correct
(D) All three are correct
Geothermal energy is :

(A) from

energy derived

underground water
(B) energy derived from the heat of
the Earth’s crust
(C) energy from subsurface ocean
currents
(D)

This wild mammal became extinct

energy from coal

from India around the mid-
twentieth century :

(A) Gangetic dolphin

(B) Giant Panda

(C) Indian two-horned rhino

(D) Cheetah

Global warming is due mainly to :
(A) increase in carbon dioxide
(B) increase in oxygen

(C) decrease in nitrogen

(D) decrease in ozone

Barometer is used to measure :
(A) wind velocity

(B) body temperature

(C) blood pressure

(D) atmospheric pressure

48.

49.

50.

51.

52.

NOV-00011/1—A
Ao fASHeR qeid Skl
gqd 9 Rl
@) FEWR( el
(i) TRfErd
(i) S
(A) 9@ (i) s 3T
(B) s (i) T (i) SRIe e
(C) F8 (i) T (iif) SRISR A&
(D) =fied e SR 3R
Jeiifeorr s WU
(A) yoemaRE a5
(B) geat=a1 shadrdtal Isorqurd ffifa
Bl
(C) 9NRYSSTITA dATRUT=AT AT
yarRraed  fHesurdt s
(D) hleRMIEA iR st
8 YOl fordredn TrdeRT=Al HEATd
A HeY el
(A) Trdia Stfehd
(B) WehME Trel
(C) 3 it W= e
D) fa=m
STTfceh AT Jg] Y&Ad: SHIMHeS Bid ?
(A) HdfgIToiicd I YHONG o6
(B) 9IUEE= YHIUMG a6
(C) THar =1 YHIUME =
(D) 3 o= YHIUG o
SRIHTEX SHIM |G HITAEIS! STl ?
(A) === o
(B) ¥R A9HE
(C) R
(D) SR &

16
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53. GPS is a system that helps in | 53. SiI.9I.TH. YUITCiH THMR= SHIvamEe]
locating positions with the help of: AT ITART kel S
(A) Microwaves (A) geHesd
(B) Satellites (B) 39U@
(C) Police intelligence (C) dfferst Tt
(D) Wireless communication (D) foart w9
54. The proposed Posco Steel Plant is | 54. ywifaq ‘ufep! Ul Yhed’ IOl
going to be located in : T SYREAT SR 3T ?
(A) Jharkhand (A) FRES
(B) Chhattisgarh (B) BNETTE
(D).West Bengal o | (D) ufe=w sme
55. Which of the following is not a main 55. EIERE FR e wE w5
function of university ? T 2
(A) Teaching (A) TSR
(B) Research (B) TeieM
(C) Publication
. (C) JhIRMH
(D) Extension work -
56. UGC has allowed students to do @)
Diploma or Certificate Courses side | 96. TI=ITHIS STIRTT 3T EliTﬂﬁ fammeafs
by side with degrees to : qedTaieoN™ Uefast fear 9HTT9H
(A) Increase income of the SR H HOATH A SUAT R
Universities and colleges (A) formdis a weIfo=mea Sc arefau
(B) Provide sufficient workload to (B) STeATIHT R FEYR ITeTsy
the teaching staff HET 20
(C) Utilize human and nonhuman N " - . o
) (C) HAEl 9 SHMET HHEATET S
resources maximum e
(D) Empower students to take up : = .
. (D) foeneaft <= UQEl SIVATHHRH
work soon after their degree
ST <hH h{UITH HE&H ERIEL
courses.
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57.

58.

59.

60.

Which of the following does not come

under the Department of Higher

Education, Government of India ?

(A) Indian Council of Social Science

Research

Indian Council of Philosophical

Research

Indian Council of World Affairs

Indian Council of Historical

Research

Freedom to attend religious

instruction or religious worship in

certain educational institutions in

India is granted by :

(A) Fundamental Rights

(B) Fundamental Duties

(C) Directive Principles

(D) Human Rights

Highest academic decision making

body of the University is :

(A) Board of Studies

(B) Faculty

(C) Academic Council

(D) BCUD

The main objectives of the

Department of Higher Education of

the Government of India are :

(1) Laying down the National
Policy of Education

(zi) Bringing about planned
development of Higher and
Technical Education

(zi1) Bringing about development of

Indian Languages

Giving  scholarships

deserving students

Only () and (ii) are correct

Only (2), (i) and (iii) are correct

Only () and (iiz) are correct

All the four are correct

(B)

(®)
(D)

(iv) to
(A)
(B)
(®)
(D)

57.

58.

59.

60.

NOV-00011/T—A

qId GLah=a] 3=d f¥reror favmmg
GeiicTieh! hemel TUEY B A&l ?

(A) sfea Hifgd s 9N |E9
s

(B) zfeaq
o

(C) zfeam

ST 3TF fRargiithera

HIfae AH doe AheTd
(D) sfezm Fifga 1w feifea fad
IR faftre Srefores Feamed it
freom= & Yeie T AER ool S
(A) HoIYd TR

(B) HaYd haed

(C) HArfeelss T

(D) HFel gFh

(C) fa=mafeg
(D) Herfgenea 9 faemdie fasm Uses

qRA TR 3od Toreqor fawmm=i g

e @reflal yam TR

G) U Sreafore RO Rfaor

(i) 3=9 4 qiAe feomen fHeeHes
[EEIRIRCEC G LU

(i) YR wreren foehe e S

(iv) TorEa foeneats et <o

(A) ® (i) M0 (i) SR 3

(B) W (), (i) ST (j47) IR A

(C) Wk (i) M0 (iii) SR&X 3T

(D) TINE seR 37&d.
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Instructions for the Candidates

Write your roll number in the space on the top of this page.

This paper consists of sixty (60) multiple-choice type of questions,

out of which the candidate would be required to answer any

fifty (50) questions. In the event of the candidate attempting
more than fifty questions, the first fifty questions attempted
by the candidate would be evaluated.

At the commencement of examination, the question booklet

will be given to you. In the first 5 minutes, you are requested

to open the booklet and compulsorily examine it as below :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an
open booklet.

(1) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced
immediately by a correct booklet from the invigilator
within the period of 5 minutes. Afterwards, neither
the Question Booklet will be replaced nor any extra
time will be given.

(ti1) After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR
Sheet Number should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B), (C)

and (D). You have to darken the oval as indicated below on the

correct response against each item.

OO O®

Where (C) is the correct response.

Your responses to the items for Paper I and Paper II are to be
indicated in the Answer Sheet given inside the Booklet, which
is common for both the papers. If you mark at any place other
than in the ovals in the Answer Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render
yourself liable to disqualification.

You have to return the test question booklet and OMR Answer
Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marks for incorrect answers.
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